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0.1

41

0.5
0.5
0.5
0.167
0.167
0.167
0.1
0.1
0.1

41

=02

1 1.4089 28
0.333 i
0.2 y *
1 0.2687 28
0.333 4.5419 28
0.2 :
1 0.1505 20
0.333 1.7173 20
0.2 1.5240 35
(Steady state)
Batch means (k)
()
01505  ( A=0.1

20

25%

0.2571

0.2517

0.2517

0.1354

0.1877
0.2940

Batch means ()

()

7540 (1=
JU=1)



4.2
50%
X k
0.5 1 3.2848 24 0.2345
05 0333 * "
0.5 0.2 " " "
0.167 1 0.4078 25 0.2364
0.167 0.333 10.1505 23 0.2264
0.167 0.2 " * "
0.1 1 0.2151 20 0.1534
0.1 0.333 2.7860 37 0.3072
0.1 0.2 16.9289 20 0.2069
* (Steady state)
4.2
() Batch means (k) Batch means ( )
(1)
(ju)
169289 (/1=

01 =02 02151 (  A=01  ju=I)

EK]‘l



43
X k
0.5 1 9.4852 22
0.5 0.333
0.5 0.2
0.167 1 0.4999 3l
0.167 0.333 **28.5009 26
0.167 0.2
0.1 1 0.2705 20
0.1 0.333 4.5641 21
0.1 0.2 **46.7510 38
* (Steady state)
4.3
() Batch means (k)
(ju)
0.1 [ =02) 0.2705 ( A=0.1
41,42 4.3

2

75%

0.2196
0.2724
24743
0.2121

0.2186
3.1382

Batch means ( )

46.7510 ( A=
= \)
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41.1.2 !
44
25%
X k
05 1 1.3989 20 0.1412
0.5 0.333 * "
05 0.2 " " "
0.167 1 0.2491 25 0.2393
0.167 0333 43147 29 0.2609
0.167 0.2 * . "
0.1 1 01291 20 0.1357
0.1 0.333 16183 39 0.3177
0.1 0.2 7.1617 2 0.1670
* (Steady state)
44
() Batch means (k) Batch means ( )

(a)
()

71617 (2=
0.1 1/=02) 01291 ( 2=01 ju=l)



24

4.5
50%
1 k
05 1 2.8578 23 0.2298
05 0.333 ¥ ¥
05 0.2 ¥ ¥ ¥
0.167 1 0.3913 27 0.2502
0.167 0.333 9.0744 29 0.2598
0.167 0.2 *
01 1 0.1963 22 0.2208
01 0.333 2.4076 25 0.2371
0.1 0.2 15.0249 25 0.2408
* (Steady state)
45
() Batch means (k) Batch means ( )
(a)
()
15049 (1=
0.1 =02 01963  ( A=0.1 [ =1)



4.6
A k
0.5 1 7.7094 35
05 0.333 " *
05 0.2 " "
0.167 1 0.4115 37
0.167 0.333 **22.6755 24
0.167 0.2 * "
0.1 1 0.2455 21
0.1 0.333 3.6047 40
0.1 0.2 **38.1129 34
* ' (Steady state)

4.6
() Batch means (k)
(ju)
0.1 =0.2) 0.2455 ( =

44 45 4.6

0.1

25

5%

0.2982

0.3054
2.3510
*

0.2129
0.3224
2.9699

Batch means ()

("

1129 (=
II=1)



412
4.7
X
05 1
0.5 0.333
05 0.2
0.167 1
0.167 0.333
0.167 0.2
0.1 1
0.1 0.333
0.1 0.2
4.7
1 25%
fd= 0.2

FIFO

1.4089

0.2687

4.5419

0.1505
1.7173

7.5240

26

©
25% a = 0.05

v Priority
1.3989 wWHFR = wPrIUl4ty

* *

* *
0.2491 WA = wpnirly
4.3147 WFIFO > w Priority

* *
0.1291 WplO = whPriority

1.6183 wHR - W/Priority

7.1617 \MFIFO R w Priority

(Steady state)

x =0.167 , jU=0.333 x=015

/1=05, =1;X=0.167,/=1; X=01, =1 X=011 =0333
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a = 0.05
4.8
50% a =005
X p FFO W Priority
05 1 3.2848 2.8578 WFIFO > w Priority
05 0.333 . *
* * *
05 0.2
0.167 1 0.4078 0.3913 WHFD = \WRiaty
0.167 0.333 10.1505 9.0744 WFIFO & w Priorty
0.167 0.2 i \ i
01 1 0.2151 0.1963 WPIPO = w Priority
01 0.333 2.7860 2.4076 WFIFO R w Priority
01 0.2 16.9289 15.0249 WFIFO R v Priority
* (Steady state)
4.8
50% X=0.5fi=\\ X:0.167, fi =0.333;

X=01, fl= 0333 2= 01, fl=02

X=01675//=1  X=01,fl=1
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a = 0.05

wv Priority

- W Priority

W Priority

waijllity
WPriority

W Priority

A=05,fl=1;7=0167,//=0333

a = 0.05
49
5%
X P Wiifo v Priority
05 1 9.4852 7.7094 WHFO
05 0.333 * K
* * *

05 0.2

0.167 1 0.4999 0.4115 FIFO

0.167 0333 285000 226755 WFFO X

* * *

0.167 0.2
01 1 0.2705 0.2455 WHIFO =
01 0333 45641 36047 wARO %
0.1 0.2 **16.7510  **38.1129 w FIFO »

* ' (Steady state)
*%
49
\ 1 75%
- A=0.1,1=0.333 71=0.1 , //=02

A=01671/1=1

M=01,jU=1
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= 0.05

4121

Arena

29



0.167

4.10

1

0.5
0.5
0.5

0.167

0.167

0.167

01
01
01

0.2)

4.10

1 1.4688
0.333 22.7416
0.2 25.1842
1 0.2640
0.333 4.4672
0.2 **41.7369
1 0.1613
0.333 1.6210
0.2 7.4475

Batch means (k)

("1)

0.1613

40
37
36
20
40
34
20

22

(A

30

25%

0.3214
0.3060
0.3021
0.1579
0.3214
2.9476
0.1693
0.2957

0.2183

Batch means ( )

®

17369 |
| =1)

12
=0.1



411

0.5
0.5
0.5
0.167
0.167
0.167
01
01
01

* %k

411

0.167  /1=02)

0.333
0.2

0.333
0.2

0.333
0.2

2.9178
23.2032
25.2769

0.3831

9.7079

**60.6896

0.2279

2.6729

16.1912

Batch means (k)

(ju1)

0.2279

(

31

50%

5
K
37 0.3082
31 0.2380
36 0.3003
20 0.1832
35 0.3006
20 1.4463
20 0.1787
36 0.3052
30 0.2647

1
Batch means ()
(a)
60.6896 ( A=

A=0.1 | =1)



412

0.5
0.5
0.5
0.167
0.167
0.167
01
01
01

* %

4.12

0.167 N=10.2)

410,4.11

m
1 5.3036 20
0.333 23.4974 .3
0.2 25.3632 25
1 0.5407 29
0.333 19.8197 23
0.2 **67.5227 29
1 0.2093 20
0.333 4.3562 34
0.2 34.1466 29
Batch means (k)
(/1)
0.2093 ( X=

412

0.1

5%

0.1637
0.2675
0.2328
0.2593
0.2284
2.5786
0.1579
0.2972
0.2545

Batch means ()

(1

675221
1=1)

32



4.13

0.5
0.5
0.5
0.167
0.167
0.167
01
01
01

4.13

0.167 | =02)

10
k

1 1.2275 29 0.2616
0.333 19.2415 , 20 0.1648
0.2 23.1534 27 0.2467
1 0.2196 20 0.1327
0.333 4.3496 31 0.2656
0.2 **37.3542 32 2.8154
1 0.1595 20 0.1277
0.333 1.5343 24 0.2336
0.2 7.3878 33 0.2913

Batch means (k)
(X)
()

25%

Batch means ( )

373540 (=

0155  (  X=0.

| =1)



34

4.14
) 50%
10
X k
0.5 1 2.0551 36 0.3009
0.5 0.333 19.8283 . 25 0.2398
0.5 0.2 23.3198 33 0.2611
0.167 1 0.2751 20 0.1436
0.167 0.333 9.2563 31 0.2688
0.167 0.2 53,9954 38 3.1420
01 1 0.2147 20 0.1609
0.1 0.333 2.6627 36 0.3024
0.1 0.2 15.8962 24 0.2296
. 1
4.14
() Batch means (k) Batch means ( )
()
()
53.9954 (=

0.167 1 =0.2) 02147  ( A=01 [ =1)



4.15
5%
10
X k
0.5 1 3.3439 30 0.2623
0.5 0.333 201229 . 30 0.2663
0.5 0.2 23.4046 36 0.3040
0.167 1 0.5304 35 0.2952
0.167 0.333 17.9612 35 0.3015
0.167 0.2 *61.0716 29 2.5725
0.1 1 0.1733 20 0.0867
0.1 0.333 4.2676 37 0.3066
01 0.2 32.4245 39 0.3135
. 1
4.15
() Batch means (k) Batch means ( )
()
(11,)
61.0716 (
0.167 =0.2) 01733 ( A=01  ~1=D)
413 ,4.14 4.15

3
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4122
4.16
25%
5
X ' k
0.5 1 1.3806 20 0.1763
0.5 0.333 22.7113 20 0.2095
0.5 0.2 25.2438 20 0.2058
0.167 1 0.2640 20 0.1579
0.167 0.333 4.3598 22. 0.2199
0.167 0.2 *41,5051 20 1.8209
0.1 1 0.1613 20 0.1693
01 0.333 1.6143 33 0.2922
0.1 0.2 7.2668 27 0.2502
*x 1
4.16
() Batch means (k) Batch means ()

()
(1)

415051 (N
0.167  pil=0.2) 01613  (  X=0.1  pil=1)



417

0.5
0.5
0.5
0.167
0.167
0.167
0.1
0.1
0.1

*%

4.17

0.167 17,202

1 2.8400
0.333 23.2841
0.2 25.3884

1 0.3518
0.333 8.9963

0.2 **60.5017

1 0.2258
0.333 2.5781

0.2 15.1724

Batch means (k)

("1)

0.2258

, 28
26
36

35
20
24
34

( X=0.1

37

50%

0.2342
0.2514
0.2455
0.3009
0.1932
3.0129
0.1785
0.2291
0.2945

Batch means ( )

605017 (A=
7= 1)



418

0.5
0.5
0.5
0.167
0.167
0.167
0.1
0.1
0.1

*%

4.18

0.167 1202

1
0.333
0.2
1
0.333
0.2
1
0.333
0.2

5.1502
23,5159
25.4543

0.5009
18.6720

*68.8338

0.2179

3.9420
31.9476

Batch means (k)

416,417

)

0.2179

2

. 24

28
24
30
20
20
24
2

1=01

75%

0.1888
0.2289
0.2553
0.2341
0.2642
2.1205
0.1425
0.2360
0.2190

Batch means ( )

68.8338
| =1)

3

1=



419

0.5
0.5
0.5
0.167
0.167
0.167
0.1
0.1
0.1

*%

4.19

0.167 [ =02)

1 1.2101
0.333 19.2978
0.2 23.1638

1 0.2196
0.333 4.2694

0.2 **31.4232

1 0.1570
0.333 15114

0.2 1.2036

Batch means (k)

()

0.1570

29
20
20
20
22
20
20
30
24

(A

39

25%
10

0.2611
0.1359
0.2127
0.1327
0.2235
2.0767
0.1194
0.2680
0.2352

Batch means ( )

A)

374232 |
=01 [z )

A=



420

0.5
0.5
0.5
0.167
0.167
0.167
0.1
0.1
0.1

*%

4.20

0.167  A1=02)

1 2.1238
0.333 19.9229
0.2 23.4102

1 0.2922
0.333 8.8223

0.2 **54.2715

1 0.1921
0.333 2.5651

0.2 14.9481

Batch means (k)

n,)

0.1921

36
3T
20
20
21
29
20
20
25

(X

40

50%
10

0.3015
0.3094
0.2037
0.1340
0.2114
25471
0.1226
0.2114
0.2400

Batch means ( )

®

54075 (1
=01 M=)
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0.5
0.5
0.5
0.167
0.167
0.167
0.1
0.1
0.1

*%

421

0.167 1 =02)

4.19,4.20

41

5%
10
k
1 3.1835 20 0.1971
0.333 20.1474 20 0.1265
0.2 23.4491 20 0.2112
1 0.5103 28 0.2527
0.333 17.1237 29 0.2595
0.2 *¥*61.3955 21 2.4664
1 0.1706 20 0.0828
0.333 4.0660 34 0.2972
0.2 30.5751 33 0.2875
|
Batch means (k) Batch means ( )
(a)
()
61.3955 ( A=
0.1706 ( A=0.1 [ =1)

421
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4.2.2
4.22
"25%
5 a =005
X 1 Wiifo v Rty *
05 1 1.4688 13806  wHO = whiaty
05 0.333 22,7416 22.7113 AR - Rty
0.5 0.2 25.1842 252433 WHFO = Whiaty
0.167 1 0.2540 02620  WHRO - WPiaity
0.167 0.333 4.4572 4.3598 whRO = wyRiaiy
0.167 0.2 **41.7369  **41.5051 wHO = th'oily
01 1 0.1613 0.1613 RO - WiRtiatly
01 0.333 1.6210 1.6143 WHRO = Wbrory
01 0.2 7.4475 7.2668 whHRO *  \XRiaily
** 1
4.22
25% 5
[1= 01 |, ju= 02

A=05 /[=1: x=05, 1e
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0333;2=05,1,=02; 2=0167,//1=1; A=0.167, //,=0333 ; A=0167,/,=02;
2=0.1 /=1 2=0.1,/=0333

4.23
" 50%
) a =005
X , Wiifo "' Rty
05 1 29178 28400 AR = whiaty
05 0333 232032 232847  wHRO - WhRiaiy
05 0.2 25.2769 53884 WA = whidty
0.167 1 0.3831 0.3518 WRR) = whiaty
0.167 0.333 9.7079 gosss  WAFOD > Whiaily
0.167 02 606806 605017  Wrme = whidly
01 1 0.2279 0.2258 wAR = wHidty
01 0.333 26729 25787 wRRQ = whiarty
01 0.2 161012 151724 \WARO % WhRiaiy
* 1
423
50% 5

2=0167 1//= 0333 2= 01, /I1= 02

2
l

0.55//=1; 2=051121=0333;2=05,/2=0.2; 2=0167,//,= 1; 2=0.167/
02;2=01,/=1 2=01,//=033



"FIFO

5.3036
23.4974
25.3632

0.5407

19.8197

**67.5227

0.2093
4.3562

34.1466

5.1502
23.5159

25.4543

0.5009 -

18.6720

**68.8338

0.2179
3.9420

31.9476

WHhiaty
w Riaity
Whiaiy
WRiarity
NPriority
v Rty
WRiarity
WRiarity
WRiarity

44

5

x=05,/2=1;/1=0167,/2=0333 ; x =01, 2= 0.333

4.24
X
0.5 1
0.5 0.333
0.5 0.2
0.167 1
0.167 0.333
0.167 0.2
01 1
01 0.333
01 0.2
*%
424
75%
« =01, /2202

x=0.5,11-0333;A=0.5,/2=0.2; /1=0.167,/2=1,

12702 x=015/2=1

=0.167,
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422,423 4.24
a = 0.05
4.25
25%
10 a =005

, l Whfo MRiaity

05 1 1.2275 1.2101 wHRO = whiaty

05 0.333 19.2415 192078 wHRO ~ \Mﬂmy

05 0.2 23.1534 23.1638 wHRO = whiaty

0.167 1 0.2196 0.2196 wHO = wHioiy

0.167 0.333 4.3496 4.2694 WARO = wPiatty

0.167 0.2 wa73s42  w37.4232  WHRO = .. Pty

01 1 0.1595 0.1570 wHO - \WFnarty

01 0.333 15343 15114 wHO = whiaty

01 0.2 7.3878 7.2036 whrD ® w Pty
ok 1

425
25% 10
1=01,/ =02 1

1205, /= 1: 1=05, 1=
0333 A=05571=02: 1=0167, AM=1: 1=0.167, [i.=0333 : 1=0.167, Al=0.2:
1=0.1, =1 1=01, 1=03%
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126
509
10 a = 005
X IL, W fifo v Riaty
05 1 20551 21238 WHRO = whiaity
05 0333 198283 199229  VAED  WRiaiy
05 0.2 233198 234102  wARO = wRiaiy
0.167 1 0.2751 02922 . WA - WyRiciy
0.167 0333  9.2563 88223  WHRO > whiaity
0.167 02  *530054  *54715  WAFO = whRiaiy
0.1 1 0.2147 01921 whRO - WyRiciy
0.1 0333 2.6627 25651 WHRO = Wty
0.1 0.2 158962 149481  WAFO * whRiaiy
4.26
50% 10
A=0.167, /1=0333 A=0.1, [7=02
A=

0.5, /7=1; [1=0.5, /7= 0333; A=05, /7,=0.2; A=0.167"1=1; A=0.167, "=
02; A=0.1,/4=1 A=011/7=0333



4.27

fT75%

4

10 a = 0.05
X 4 WpIFO WRiaty
05 1 3.3439 3.1835  WHFO * wRiaity
05 0333 201229  20.1474 HRO - whiaty
05 02 234046 234491  WHRO - WRiaiy
0.167 1 05304 05103  WHFO = whiny
0.167 0333 179612 171237  wARO * whRioty
0.167 02 *6L0716  *+613055  WHFO - Wiy
0.1 1 0.1733 01706  WARD - whiaity
0.1 0.333 4.2676 40660  WHR * whHiaty
01 02 304245 305751 WA > whRiaty
1
427
5% 10
A=05,/,=1;A=0167,/]=0333; A=01, 1=0333
A= 01, /= 02

A=05,"1-0333; A=05,/,=02; A=0167,/ =1

A= 0167 , "= 02 A=01,12=1



4.25 54.26

4.21

a =005

48
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